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W Bl ussssvisne If you write up to 10 numbers in this way and find the sum ofall these
numbers, which number will come in the place 100 of the sum?
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8, 88, 888, ........... If you write upto 10 numbers in this way and find the sum of
all these numbers, which number will come in the place 100 orthe.sum?
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If you substract largest even number of four digits from the smallest odd num-
ber of five digits, how much will you get?
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If you Eﬂﬂtilﬁﬂﬁ_:tflﬂ above pattern, what will be the sum of numbers 6th row?
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Which is the smallest five digit number which i1s a multiple of 5, that can be written
using all the digits, 7,3,0,5,17?
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3x2000 = 6000
2x 200 = 400
5x 10 = 50
n Y} oo = 25
6475
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From the given box how can you take 6475 rupees in different ways. Ong.is given for you.

3x 2000 = 6000
2 x 200 = 400
5x 10 = 50
ol = 25

6475
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Complete the table

Number of digits RS ﬂ;ﬁ:?ﬁ;i:smg Methods
1 1 I
0 ) 1x2
3 6 1x2x3
4 24 Ix2x3x4
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